NICL AO Mock Test 2025 (Sample — 30
Questions)

English Language

Q1. As there was only one taxi available (a)/ | had no other alternative (b)/ but to pay the fare
(c)/ demanded by the driver. (d)/ No error (e)

A)a

B)b

C)c

D)d

E)e

Q2. Choose the correct word to fit in both sentences.

It is always the ordinary people who (1) victims of violence of the political parties.
People who conspire against others (2) into their own trap.

A) indicate

B) shun

C) fall

D) transform

E) suppressed

Q3. Their father has left(a)/ behind a huge sum (b)/to be distributed (c)/ among the two brothers.
(d)/ No error (e)

A)a

B)b

C)c

D)d

E)e

Q6. Fill in the blank: The committee has finally to a decision after long discussions.
A) arrived

B) arrival

C) arriving

D) arrive

E) arrives

Q7. Choose the correctly spelled word.
A) Reccomendation
B) Recommendation



C) Recomendation
D) Reccommmendation
E) Recomandation

Q8. Synonym of “Prudent”
A) Careless

B) Wise

C) Foolish

D) Arrogant

E) Lazy

Q9. Antonym of “Obscure”
A) Hidden

B) Dark

C) Clear

D) Uncertain

E) Dim

Q10. Rearrange:

(P) should respect their teachers
(Q) Students

(R) because they guide them.
Choose the correct sequence:
A) QRP

B) RPQ

C) PQR

D) QPR

E) PRQ

Quantitative Aptitude

Q4. 8999.99 + 892 x 59.99 = ?
A) 43250

B) 56890.67

C) 34210.65

D) 62520

E) 25630.78

Q5. Manish invested a sum of money at Cl. It amounted to Rs. 78652 in 2 years and Rs.
83371.12 in 3 years. Find the rate per cent per annum.

A)6

B)5

C)4



D) 3
E)2

Q11. If 25% of a number is 60, what is 40% of that number?
A) 96

B) 120

C) 144

D) 150

E) 160

Q12. A man bought a chair for Rs. 800 and sold it at a profit of 20%. Find the selling price.
A) 920

B) 960

C) 1000

D) 1040

E) 1100

Q13. Average of 10 numbers is 60. If one number is removed, average becomes 59. Find the
removed number.

A) 50

B) 59

C)60

D) 69

E)70

Q14. A boat goes 12 km downstream in 3 hours and returns in 4 hours. Find the speed of the
boat in still water.

A) 3 km/h

B) 4 km/h

C) 5 km/h

D) 6 km/h

E) 7 km/h

Q15. A sum becomes Rs. 900 in 2 years and Rs. 1000 in 3 years at simple interest. Find the
principal.

A) 600

B) 650

C) 700

D) 750

E) 800

Q16. The difference between the squares of two numbers is 45. If their sum is 15, find the
numbers.

A)10and 5

B)12and 3



C) 14 and 1
D)9 and 6
E) None

Reasoning Ability

Q17.IfA=1,B=2, ..., Z=26. Find the value of CAT.

A) 24

B) 25

C) 26

D) 27

E) 28

Q18. Find the odd one out:
A)2,4,8,16
B) 3,6, 12, 18
C) 5, 10, 20, 40
D)7, 14, 28, 56
E)9, 18, 36, 81

Q19. If '+’ means ‘x’, ‘=" means ‘+’, ‘x’ means ‘—, and ‘+" means ‘+’. Find: 10 +5-2x4+2 =7
A) 28

B) 20

C) 15

D) 25

E) 30

Q20. If in a certain code, CAT = DBU, then DOG = ?

A) EPH

B) EOH

C) ENH

D) EOG
E) DPH

Q21. Arrange the words in dictionary order:

1. Mango
2. Man

3. Mansion



4. Manage

A)2, 4,3, 1
B)2,1,4,3
C)4,2, 3,1
D)2, 4,1,3
E)3, 4,21

Q22. Pointing to a man, Seema said, “He is the son of my grandfather’s only son.” How is
Seema related to the man?

A) Sister

B) Mother
C) Daughter
D) Cousin
E) Aunt

General Awareness

Q23. Who is the current Chairman of NICL (2025)?
A) Tapan Singhel

B) Rajeshwari Singh

C) John Joseph

D) Dinabandhu Mohapatra

E) None

Q24. Headquarters of National Insurance Company Limited is in:
A) Mumbai

B) Kolkata

C) Chennai

D) New Delhi

E) Hyderabad

Q25. Which of the following is not a Public Sector General Insurance Company?
A) NICL

B) United India Insurance
C) New India Assurance
D) ICICI Lombard

E) Oriental Insurance

Q26. NICL comes under which Ministry?
A) Ministry of Corporate Affairs

B) Ministry of Commerce

C) Ministry of Finance



D) Ministry of Home Affairs
E) Ministry of Defence

Q27. Who is the Finance Minister of India in 20257
A) Nirmala Sitharaman

B) Arun Jaitley

C) Amit Shah

D) Rajnath Singh

E) Piyush Goyal

Q28. IRDAI regulates which of the following sectors?
A) Banking

B) Insurance

C) Telecom

D) Railways

E) Education

Q29. The tagline of NICL is:
A) “Trusted Since 1906”

B) “With You Always”

C) “India’s Insurance Partner”
D) “Insurance for All”

E) None

Q30. In 2024, which country won the ICC Men’s T20 World Cup?
A) India

B) England

C) Australia

D) South Africa

E) Pakistan

Answer Key

1. B

2. C
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30. A
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